i
j 9-
§3 & 53 EIE 53 HE g[8 23 HE HE P
=t i I — i ittt sininel T e ] St e e ¥
i 84 R S S =] i I o i S = i i
o c 0 q uj_u q @L 975 v\iﬂ‘r.@, o pm: 1,10 pm: 1,10 pm: 1,10 & pm:,10 pm:11,10
M o 210} { «
{10 ranth <
- m o 7 = e
5t 4 :
l/_,._ il @,M kerava P 3\ o 1
- [~ hegrami 7N_ m? # eni-l i L
2 keram
8. m Férli WC all=a= 2763 & lroda - Tanacsterem
— _ﬂmqm::mm | MM\ AR AR parketta v ~ parketta
o= 12,33 m 210 [& ] 23,89 m? 1400 ) 75,67 m? -
@ @ T = 11240 © NG
[}
@ B i [
T = s — keramia || 90 o “ “
B Elstér @ ElGter o
i mozaildap? 0 kerfimia / \ / \\
i 2 752
I 33 m N.m?:\ - | === < |
| 1] iR 5 I ] 2 I
=T 0N ! o [w iR =) o
b =3 b M hoRE 2ls 2|& Folyosé R b
Rt o, mozaiklap A
4
. == \MG: ol|lo oo 31.69m olo olo
Pt @S N N P& 2| & =S
1 B3] 3 L ] 050
. o e
g Lépesiiiriz” ]
| |- p parkefifa "~
Raltar Jdegyzfiiroda \ || 95 o5 || ] Polgarmasteriir. Ireda Ireda 90 reda 9,20m2 P
: X = | ; Lo | )
mozaildap panketta 210 210 parketta parlwetita parketta b10 parketta = 103
10,13 m?* 16,72 m? i Titharsag 16,65 m* 15,46 m? 12,54 m? T 12,54 m?
i pavketta
|mv|HQ«OO 12,54 m?
pm: 1,10 pm: 1,10 pm: (1,10 _pm:,10 |mﬂm_wﬂn._[o| -m_u-g..._[cl
3 -0,60
8|2 23 g2 flE 2z a3 4
244 1 c\__\\__\ 4,00 1 aarw 3,00 1 o}_, 4,00 1 oa_o__\ 3,72 10 W 3,00 1 c\__y_ 3,00 1 at 220 mm.__rJT




		2018-02-21T14:50:24+0100




